. ‘ i )& ESHIRE S
LRz AL ERE % () e PR
Al0|2]0]2|FHEEmgE RO3 3 4E | R06.12.31 | FE#E |wms+exok| R03.01.01 | R04.01.01 | %%
Al0|2]0]2|F=HENEs R04 34 | R07.12.31 | FEFE |wmxvrxor| R04.01.01 | R05.01.01 | %%
Al0]2]0] 2| BB R05 3 4E | R08.12.31 | FE#E |wm=+exok| R05.01.01 | R06.01.01 | %%
AlO|2| 1|5 R -BEHE RO1 54 | R06.12.31 | FEFE |wmxvrxor| H31.01.01 | R02.01.01 |  #%
AlO|2| 1|5 [cEREE-BERE R0O2 54 | R07.12.31 | BEHE |[wix+vexob| R02.01.01 [ R03.01.01 | &
AlO|2| 1|5 [cEpEE -BERE RO3 54 | R08.12.31 | BEZE |wmxvexok| R03.01.01 | R04.01.01 | #&
AlO|2| 1|5 [cEpEE -BERE RO4 54 | R09.12.31 | BEHE |wixvexoh| R04.01.01 [ R05.01.01 | &
AlO|2| 1|5 [cEpEE -BERE RO5 54 | R10.12.31 | BEZE |wmx+cxor| R05.01.01 | R06.01.01 | &
Al0|4]0]2|&mEBItREE R05 1 4 | R06.12.31 | BE#E |wmrvexok| R05.01.01 | R06.01.01 |  #%
A[1]0] 1|4 MBI JEHKGEE RO1 5 4 | R06.12.31 | BEHE |f&#P— 3| H31.01.01 | R02.01.01 | 7 —%
Al T|O|1]4 kBRI EH7AGE#E RO2 5 4F | RO7.12.31 | BEZE |fE#¥— 3| R02.01.01 | R03.01.01 | 7 —%#
A[T]0] 1|4 MBI JEH &GS E RO3 5 4 | R08.12.31 | BEHE |#&#P— 3| R03.01.01 | R04.01.01 | 7 —%
Al L]0 1|4 [W&EIRNR- JE &G RO4 54 [ R09.12.31 | BE3E [ME#Y— 3| R04.01.01 [ R05.01.01 | 7—%#
A 1|0 1|4 [HkEIKIR. EH &R RO5 54 | R10.12.31 | BEZE |f#Y—,3| R05.01.01 | R06.01.01 | 7—%
All|2|0]f 2| AR BEFE |wre ok W
Al2(0]0] 1 [\ TRhimmERE HO05 30 A5 | R13.12.31 | BEFE [wszrvrerok H14.01.01 | &
Al2(0|0] 1 [ A\SFEhimmmER HO06 30 4 | R13.12.31 | BEZE [missrresob H14.01.01 | #&
Al2(0|0] 1 [ A\TREhimEmERE HO7 30 4F | R13.12.31 | BEFE [wimrvr ok H14.01.01 | %%
Al2(0|0] 1 [ A\SFEhEmER HO8 30 4F | R13.12.31 | BEHE [whisre ok H14.01.01 | #&%
Al2(0|0] 1 [ A\TFHEhimmERE HO09 30 45 | R13.12.31 | BE3E [wmrvreaok H14.01.01 | #&
Al2(0|0] 1 [ A\SFEEhEmER H10 30 4F | R13.12.31 | BEHE [whisve ok H14.01.01 | #%
Al2(00] 1 [ A\TFHEhimEmEE H11 30 4 | R13.12.31 | BEIE [missrresoh H14.01.01 | %%
Al2(0]0] 1 [ A\ SRhimmmERE H12 30 45 | R13.12.31 | BEZE [wmrrr ok H14.01.01 | #&




WK A7 7 w BN gempy | PO LR e | | SRR IR
Al2(0|0] 1 [ A\ZFHEihmamER H13 30 4F | R13.12.31 | BEHE [wisvesoh H14.01.01 | #%
Al2]10]0] 1| A5 EEhim s H14 30 4 | R14.12.31 | BE3E |wmxre sk H15.01.01 | #%
Al2(0|0] 1 [ A\SFEihmamER H15 30 4F | R15.12.31 | BEHE [whisre ok H16.01.01 | &
Al2(0]0] 1 [ A\TFHEhimmER H16 30 45 | R16.12.31 | BE3FE [somrverok H17.01.01 | #&%
Al2]10]0] 1| A\5EEhmEnER#R H17 30 4F | R17.12.31 | BEHE [whisre ok H18.01.01 | #&
Al2(0|0] 1 [ A\SFHEhimmER H18 30 4 | R18.12.31 | BE3E [wmrvre itk H19.01.01 | #&%
Al2(0f0f 1| AN EhmemER H19 30 4 | R19.12.31 | BEHE |wmsreiob H20.01.01 | #%
Al2(0|0] 1 [ A\SFHEhimmER H20 30 4 | R20.12.31 | BEIE [smssrresob H21.01.01 | #%
Al2(0|0] 1 [ A\ThimmmEg H21 30 45 | R21.12.31 | BEZE [wmsrrr ok H22.01.01 | #&
Al2(0]0] 1 [ A\SFHEihmAmER H22 30 4 | R22.12.31 | BEFE [mmrve itk H23.01.01 | %
Al2]10]0] 1| A5 Edhim s H23 30 45 | R23.12.31 | BE3E |wxre ok H24.01.01 | #%
Al2(0|0] 1 [ ASFEEhEmER H24 30 4E | R24.12.31 | BEZE [mmr~raob| H24.01.01 [ H25.01.01 | %
Al2(0|0] 1 [ A\TFREhimmEE H25 30 45 | R25.12.31 | BEZEE [wmr+vrior| H25.01.01 | H26.01.01 | #%
Al2]0] 0|1 [ A\Z B aERH H26 30 4 | R26.12.31 | FE#E |wmsvexor| H26.01.01 | H27.01.01 | %
Al2(0|0] 1 [ A\SFHEhiEmER H27 30 4 | R27.12.31 | BEEE [wmrvriob| H27.01.01 | H28.01.01 | %
Al2(00] 1 [\ ThimmmEr H28 30 4= | R28.12.31 | BEHE [smixverob| H28.01.01 [ H29.01.01 | &
Al2(0]0] 1 [ A\SFHEhiEmER H29 30 4F | R29.12.31 | BEZE [wmarvesor| H29.01.01 | H30.01.01 | %
Al2(0]0] 1 [\ TRhimmERE H30 30 4 | R30.12.31 | BEHE [smxvexob| H30.01.01 [ H31.01.01 | &
Al2(0|0] 1 [ A\SFEhimmmER RO1 30 4F | R31.12.31 | BEZE [wmr+rsor| H31.01.01 | R02.01.01 | %
Al2(0|0] 1 [ A\TREhimEmERE R02 30 45 | R32.12.31 | BE#EE [wmr+vrxob| R02.01.01 | RO3.01.01 | #%
Al 20|01 [\ g5 dhimanEf RO3 30 45 | R33.12.31 | EE#EE [wmr+rxor| R0O3.01.01 | R0O4.01.01 | %
Al2(0|0] 1 [ A\TFHEhimmERE R04 30 4 | R34.12.31 | BE#EE [wmr+rrxot| R04.01.01 | R05.01.01 |  #%
Al210[0] 1 [ =B EhimaE R05 30 45 | R35.12.31 | EE#E |wmr+rxor| R05.01.01 | R06.01.01 | %
Al2|0|0]2|rElEERE H14 30 4F | R14.12.31 | BE3E [wimsre stk H15.01.01 | %%
Al2(0|0]2[rEfRERE H15 30 45 | R15.12.31 | BEZE [wmrvr ok H16.01.01 | #&




((5p3
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I 7 d v g | PRI RN o | R e n | odesin | )
Al2(0|0]2|ERERE H16 30 4F | R16.12.31 | BEHE [whsvesoh H17.01.01 | #&
Al2]0]0]|2|rEfEERE H17 30 4F | R17.12.31 | BEZE |wimsrezoh H18.01.01 | #&
Al2(0|0]2[ERERE H18 30 4E | R18.12.31 | BEHE [wmrvr ok H19.01.01 | #&
Al2]0]0]|2|EfEER H19 30 4F | R19.12.31 | BEZE | zoh H20.01.01 | #&
Al2]o]o|2|EfEeHE H20 30 4F | R20.12.31 | BEZE |wmsvixol H21.01.01 | %
Al2(0|0]2|mERERE H21 30 4F | R21.12.31 | BEHE [whssve ot H22.01.01 | #&%
Al2]10]|0]|2|mERERE H22 30 4F | R22.12.31 | BEHE |wisrvesob H23.01.01 | #%
Al2(0|0]2|ERER H23 30 45 | R23.12.31 | BEZE [wmrvrraok H24.01.01 | &
Al2|0|0]2|mEtEER H24 30 4 | R24.12.31 | BE3E [wisrrexob| H24.01.01 | H25.01.01 | %
Al2(0|0]2|mERERE H25 30 A% | R25.12.31 | BEFE [wmrreiob| H25.01.01 | H26.01.01 | %
Al2|of0f2|mEfRERE H26 30 4 | R26.12.31 | BEIE [wmrresob| H26.01.01 | H27.01.01 | %
Al2(0|0]2|rERERE H27 30 4E | R27.12.31 | EE#EE [wmrvrxor| H27.01.01 | H28.01.01 | %
Al2fofo0f2|mEfRERE H28 30 47 | R28.12.31 | BEFE [wmrresob| H28.01.01 | H29.01.01 | %
Al2(0|0]2[ERERE H29 30 4E | R29.12.31 | FE#E [wmrvrxor| H29.01.01 | H30.01.01 | %
Al2]|0]0]|2|mEfEEHE H30 30 A% | R30.12.31 | BEFE [wmrresob| H30.01.01 | H31.01.01 | %
Al2(0|0]2[EfRERE RO1 30 4 | R31.12.31 | BEHE [smix+exob| H31.01.01 [ R02.01.01 | &
Al2]|0]0|2|mEfaEHE R0O2 30 A5 | R32.12.31 | BEFE [wmrreiob| RO2.01.01 | R03.01.01 | %
Al2(0|0]2|EfRERE RO3 30 4F | R33.12.31 | JE#HE [wix+exor| R03.01.01 | R04.01.01 | #%
Al2]0]|0]|2|nERERE R04 30 4E | R34.12.31 | B [mmrvrexor| R04.01.01 | R05.01.01 | %
Al2]|0]0]|2|mEfEEHE RO5 30 4 | R35.12.31 | BEIE [smrresob| R0O5.01.01 | R06.01.01 | %
Al 28|01 [fE AN IR s B ks ee BEHE vz ok “t
Al3]0] 0|1 [ATE&EIIEEL Bk RO1 54 | R06.12.31 | BEZE |wmvexoh| H31.01.01 | RO2.01.01 | #&%
Al3]|0|0] 2 |Bs22RaM%R% R05 1 4 | R06.12.31 | BE#E |wmx+exok| R05.01.01 | R06.01.01 |  #&%
A|3[0]0] 4[N sy BEfRfa RO1 54F | R06.12.31 | FEFE |wmxvraor| H31.01.01 | R02.01.01 | %%
Al3]2]|0|2[MERET—F s BEFHE |wiFre ok 4T




LI ) R v BN gempy | PO LR e | | SRR IR
Al 3| 2|0] 3 |REERE RO3 34 | R06.12.31 | FEFE |wmxvexor| R0O3.01.01 | R0O4.01.01 | %%
Al3|2]0] 3 |FEEHRE R04 34 | RO7.12.31 | BFEHE |wmx+vrioh| R04.01.01 | R05.01.01 | #%
Al 3]2]0]3|EREZRHERE R05 3 4E | R08.12.31 | FE#E |wmx+rxor| R0O5.01.01 | R06.01.01 | %
Clojofo] 1 |HE&RRFHISE H28 10 4F | R08.12.31 | BE#E |wissvtioh| H28.01.01 [ H29.01.01 |  #%




7 7 A v @TE Sl B4
£ (7Y U (RERS RER)
Alo]o]o|1[Enkk H16 30 4F | R16.12.31 | BEIE |iesssrre sk H17.01.01 | %
Alolo|o] 1 [iES# H17 30 4 | R17.12.31 | BEZE [mssrresoh H18.01.01 | #&
AlO[O]| O] 1 [iE5Hk H18 30 4 | R18.12.31 | BEIE [emsarresoh H19.01.01 | #&
AlO|O|0]1[iESH H19 30 4F | R19.12.31 | BEFE [mmsrresob H20.01.01 | &
AlO[O0|0] 1 [iEak H20 30 4 | R20.12.31 | BE3E [messrvetok H21.01.01 |  #&%
AlO|O|0] 1 [iET# H21 30 45 | R21.12.31 | BEZE [memrrrioh H22.01.01 | #%
AlO[O0|0] 1 [Esk H22 30 4 | R22.12.31 | BE3E [medsrvetok H23.01.01 | #&%
Alolo|o] 1 [iES# H23 30 4E | R23.12.31 | BE3E [mmsrrriob H24.01.01 | #&
AlO[O0]| O] 1 [iE5Hk H24 30 A5 | R24.12.31 | BEFE [wBsrreiob| H24.01.01 | H25.01.01 | %
Alofofof1|EakE H27 30 4F | R27.12.31 | BE#E [memsvexor| H27.01.01 | H28.01.01 | %%
AlO[O0]| O] 1 [iE5Hk H28 30 A5 | R28.12.31 | BEFE [wBsrreiob| H28.01.01 | H29.01.01 | %
Alolo|o] 1 |[iES# H29 30 4E | R29.12.31 | B [msrresor| H29.01.01 | H30.01.01 | %
AlO[O]| O] 1 [iE5H H30 30 4= | R30.12.31 | BEHE [me#srvexob| H30.01.01 [ H31.01.01 | &
AlO[O0|0] 1 [iEak RO1 30 4E | R31.12.31 | BEZE [memrrraor| H31.01.01 | R02.01.01 | %%
AlO|O|O] 1 [iES# RO3 30 4 | R33.12.31 | BEHE [m#sx+exob| R03.01.01 [ R0O4.01.01 | &
AlO[O0|0] 1 [iEak R04 30 4E | R34.12.31 | FEZE [memr+vrxor| R04.01.01 | R05.01.01 |  #%
AlO|O|0] 1 [iES# R05 30 4F | R35.12.31 | BE#E [mm=rexor| R05.01.01 | R06.01.01 | #%
Al0[0|0]2|FErER# H16 30 4 | R16.12.31 | BEIE [mssrresob H17.01.01 | #&
Al0[0|0] 2| cER H17 30 4F | R17.12.31 | BEFE [demsrariok H18.01.01 | #&
Al0[0]|0]2|miEcEk H18 30 4F | R18.12.31 | BEHE [mssre ok H19.01.01 | #&
Al0]0]0]2|FECER H19 30 4F | R19.12.31 | BEHE [messsrexok H20.01.01 | #%
A[0] 0|02 |FEEscER H20 30 4F | R20.12.31 | BEZE [mmsrresob H21.01.01 | #&
Al0[0|0]2|FECERH H21 30 4 | R21.12.31 | BE3E [mssrreaoh H22.01.01 | #&




Al0|o| 0] 2|mEErER H22 30 4F | R22.12.31 | BEZE [ toh H23.01.01 | #%
Al0[0|0]2|FECER H23 30 4F | R23.12.31 | BEHE [mmssvexob H24.01.01 | #&
Al0[0|0]2|FErER# H25 30 4F | R25.12.31 | JE#HE [messrexor| H25.01.01 | H26.01.01 |  #%
Al0]0]0]2|FEECER H30 30 4E | R30.12.31 | BEZE [memrvrror| H30.01.01 | H31.01.01 | %%
Al0]0]0]|2|HEECER RO1 30 4F | R31.12.31 | BEHE [m#mvexor| H31.01.01 | R02.01.01 | #%
Al0]0]0]2|FeECER R02 30 4E | R32.12.31 | BEZE [memrvrror| RO2.01.01 | RO3.01.01 | %%
Al0]0]0]|2|FEECER RO3 30 4F | R33.12.31 | FE#E [mem=+exor| R03.01.01 | R04.01.01 | %%
Alofofof2|mECER R04 30 4F | R34.12.31 | BE#E [messrexok| R04.01.01 | R05.01.01 | %%
Al0]0]0]2|FEECER R05 30 4F | R35.12.31 | BFE#E [mem*+exor| R05.01.01 | R06.01.01 | %%
A0 1| 0] 3 [A/FHE XS RO1 54 | R06.12.31 | BEZFE [##srexoh| H31.01.01 | R02.01.01 | #&
AlO[1|0] 3 [ATEXiBESE R02 54 | R07.12.31 | BEHE [##sxvexob| R02.01.01 [ R03.01.01 | &
A0 1| 0] 3 [ATFEXmEER RO3 5 4 | R08.12.31 | BEHE |#srrexob| R03.01.01 | R0O4.01.01 | K
A0 1| 0] 3 [ATE X mESERK R04 54 | R09.12.31 | BEFE [i#srexok R04.01.01 | R0O5.01.01 | #&
A[O] 1|03 AT X% RO5 54 [ R10.12.31 | BEZE [megrvedor| R05.01.01 [ R06.01.01 [ #%
Al 0| 1|0]6|pHmEERH HO06 30 45 | R13.12.31 | BE3E [messrve itk H14.01.01 | #&
AlO|1|0]6|pIHEER HO8 30 4E | R13.12.31 | BEFE [memsrrrioh H14.01.01 | %%
Al 0| 1|0]6 |pHmEERH HO09 30 4 | R13.12.31 | BE3E [messrre itk H14.01.01 | #&
Al 0| 1|0]6|pIHEER H10 30 45 | R13.12.31 | BEHE [memrrrioh H14.01.01 | &
Al 0| 1| 0] 6 |fFIHmERH H11 30 4 | R13.12.31 | BEZE [mssrresob H14.01.01 | &
Al 0| 1|0]6|pIHEER H12 30 4 | R13.12.31 | BEFE [mHsrvreroh H14.01.01 | &
Al0| 1| 0] 6 |fFIHmEH H13 30 4 | R13.12.31 | BEZE [mssrresob H14.01.01 | #&
Al 0| 1|0]6|pHEER H14 30 4F | R14.12.31 | BEHE [messrexok H15.01.01 | #&
Al0]|1]0] 6 |#IHEER H15 30 4F | R15.12.31 | BEIHE [mwssvexob H16.01.01 | #&%
Al 0| 1|0]6|pHmEERH H16 30 45 | R16.12.31 | BE3FE [m#srve ok H17.01.01 | #&
Al 0] 1]0] 6 |fIEEEE H17 30 4F | R17.12.31 | BEHE [mssrexob H18.01.01 | #%
Al 0| 1|0]6|pHmEERH H18 30 4 | R18.12.31 | BE3E [mssrveroh H19.01.01 | #&
AlO|1|0]6 |pIHmEH H19 30 4F | R19.12.31 | BEHE [mssre ok H20.01.01 | &




Al 0] 1]0] 6 |fIHEER H20 30 4 | R20.12.31 | BE3E [messrve itk H21.01.01 |  #&%
AlO|1|0]6|pHEER H21 30 4F | R21.12.31 | BEFE [demsrrriok H22.01.01 | #&
Al 0| 1|0]6|pIHmEERH H22 30 4E | R22.12.31 | BEEE [memsrrr ok H23.01.01 | &
Al 0| 1|0]6|pHmEERH H23 30 45 | R23.12.31 | BE3FE [mssrveaoh H24.01.01 | #&
Al 0| 1| 0] 6 |fHEmER H24 30 4% | R24.12.31 | BEFE |fmssveirob| H24.01.01 | H25.01.01 | K
Al 0] 1]0] 6 |fIHEER H25 30 4E | R25.12.31 | BEZE [memrvrror| H25.01.01 | H26.01.01 |  #%
AlO|1|0]6|pIHEER H26 30 4E | R26.12.31 | FEZE [memsrrexor| H26.01.01 | H27.01.01 | %%
Al 0| 1|0]6|pIHmEERH H27 30 4F | R27.12.31 | BE#E [messrexor| H27.01.01 | H28.01.01 | %%
AlOf1|0]e6|fFIHiEzER H28 30 4E | R28.12.31 | EEsE [mssrvrxor| H28.01.01 | H29.01.01 | %
AlOf1|0]e6|fFIHHiEER H29 30 4E | R29.12.31 | FEZE [memrrrror| H29.01.01 | H30.01.01 | %%
Al 0] 1]0] 6 |FIHEERE H30 30 4F | R30.12.31 | BFE#E [memsvexor| H30.01.01 | H31.01.01 | %%
Al 0] 1]0] 6 |fIEEEE RO1 30 4 | R31.12.31 | BEZE [m#srveiob| H31.01.01 [ RO2.01.01 | &
AlOf1|0]e6|fFIHiEER R04 30 4E | R34.12.31 | BEsE [m#ssve x| R04.01.01 | R05.01.01 | %
AlO|1|0]6|pIHEER R05 30 4E | R35.12.31 | Bz [mesr+rexor| R05.01.01 | R06.01.01 | %
AlO|1|0]7|FIHEEERH H26 10 4E | R06.12.31 | FE#E |misvraok| H26.01.01 | H27.01.01 | #%
AlO|1|0]7|pIHEER H27 10 48 | R07.12.31 | pE#E |mssvexor| H27.01.01 | H28.01.01 | %%
AlO|1|0]7|FIEEERH H28 10 4 | R08.12.31 | Be#E |misvraok| H28.01.01 | H29.01.01 |  #%
AlO] L]0 7 [fFIHiEER H29 10 4E | R09.12.31 | PETE |msx+rxor| H29.01.01 | H30.01.01 | %
AlO|1|0]7|pIEEER R04 10 4F | R14.12.31 | Bg#E |mis+rxok| R04.01.01 | R05.01.01 | %%
AlO] 1|07 |[fFIHlimEiERH RO5 10 4 | R15.12.31 | BEFE |m#vexor| R05.01.01 | R06.01.01 | %
Al0]|1]0]8|—fmEkH RO1 54F | R06.12.31 | BE#E [mes=rexor| H31.01.01 | R02.01.01 | #%
AlOf1|0]8]|—fximiERH R02 54 | R07.12.31 | BgsE |[m#srre x| R02.01.01 | R0O3.01.01 | %
AlO|1|0]8|—fxmiEsz RO3 54 | R08.12.31 | BEHE [#e#x+veroh| R03.01.01 [ R04.01.01 | &
Al0]|1]0]8|—fiEk R04 54 | R09.12.31 | BgzE |m#srrexor| R04.01.01 | R0O5.01.01 | %
AlO|1|0] 8| —fkimeEk R05 54 | R10.12.31 | FE3E |#mx+rxor| R05.01.01 | R06.01.01 |  #%
A0 1]0]|9 |z R0O3 34E | R06.12.31 | BEZE |[m#srrexor| RO3.01.01 | R04.01.01 | %
AlO[1[0]9|—MxiEeER R04 3 4E | R07.12.31 | BEsE [mm=rexor| R04.01.01 | R05.01.01 | %%




Al0]|1]0]|9|—MmEk R05 3 4E | R08.12.31 | BE#E |[mes=+exok| R05.01.01 | R06.01.01 | %%
AlO| 1| 1|0 [k R05 1 4| R06.12.31 | BE3E |m#srexvk[ R05.01.01 | R06.01.01 |  #K
AlO| 1|15 |HBEnsH RO1 54 | R06.12.31 | BEHE [#e#sx+vexor| H31.01.01 [ R02.01.01 | &
AlO|1|1]5|m@Ensix RO4 54 | R09.12.31 | BEHE |m#xvexor| R04.01.01 | R05.01.01 | %
AlO] 1] 1|5 [i@ansEsz RO5 54 | R10.12.31 | BEHE |+ xoh| R05.01.01 | R06.01.01 |  #&
AlO| 1| 1]6 |8E@En%HH RO3 34 | R06.12.31 | BEHE |m#xvexor| R03.01.01 | R04.01.01 | %
Al0] 1] 1|6 @ R04 3 4E | R07.12.31 | BEZE |msrvesor| R04.01.01 | RO5.01.01 | %%
A0 1]1]6|#@EnsEss R05 34 | R08.12.31 | FEFE |[m#x+rxor| R05.01.01 | R06.01.01 |  #%
AlO| 1|17 |#@Ensix R05 1 % | R06.12.31 | BEZFE |i#s*vexr R05.01.01 | R06.01.01 | #K
Alo]2]0|6|XE TV ERLE A HHT AN R R
A0 2] 1] 2|ABAHRE R R04 3 4E | RO7.12.31 | BEHE [ms*+exor| R04.01.01 | R05.01.01 |  #%
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